3-JAW ADJUSTMENT STEEL BODY SCROLL CHUC

H kv 1 v o | [— iﬁ =L gE
O] 33\ Z@E B — T 7% F&E
B G
nE—
K
ﬂ 4ttt 88l §
Q Q Q Q
| | e
T %@
L. \m

#82 1& & > Specifications ES{iI/UNIT:mm
ﬂﬂ/*ﬁ@ e 0iEER iEiE8EE Max. Gripping Diameter

MODEL A B C D E F G H J K M L Max.Speed N ITIE PSR

/ SPEC. rp.m.(min") ©O.D.Clamping |.D.Clamping
3DACT-04 100 60 70 83 20 10 3-M8x1.25P 42 14 17 4-M8x1.25P 8 5200 03-095 030-083
3DACT-05 125 65 95 108 32 105 3-M8x1.25P 50 16 20 4-M10x1.5P 8 4800 03-0122 235-0111
3DACT-06 160 725 125 140 42 12 3-M10x1.5P 65 19 23 4-M12x1.75P 10 4200 04-0160 046-0155
3DACT-08 200 825 160 176 55 12 3-M10x15P 75 22 28 4-M12x1.75P 11 3500 04-0197 ©51-0184
3DACT-10 250 91 200 224 76 13 3-Mi12x1.75P 98 28 385 4-M12x1.75P 12 2600 06-0267 ©70-0252
3DACT-12 315 103 260 286 103 14 3-M16x2P 110 30 445 4-M12x1.75P 14 2200 210-8325 281-0308
3DACT-15 400 122 330 362 136 15 3-M16x2P 146 40 56 4-M12x1.75P 17 1600 014-0428 20106-¢410



